Aluminium spacer
@27X8,5X11
Cod. 204321

@ 92R-02 10393

Allen screw
M8X20
T.C.E.Il. Z.B.
Cod.200722

Carbon
bracket FM1S
Cod.306958505

Short helical
spring tensile
C0d.303949001

N —NG} Knurled

Co0d.200298

Strap in stainless
steel @53

C0d.300053530

Allen screw M8X50
T.C.E.l. Z.B.

Cod.200461

ART. 14287E

DB-Killer N°52B
C0d.308437801

Allen screw M8X45
T.B.E.Il. Z.B.
Cod.206783

S.s Bracket
Cod.0814286501

collar nut M8

LV PRO Silencer
carbon fiber
Co0d.3014124482

Pipe N°T24T 5.5,
Cod.3014286203

Pipe N°1240 s.s.

Co0d.3014286201

Plain washer

D 8x D 24

Co0d.200321

Strap in stainless
steel @45

C0d.300045530

TRIUMPH STREET TRIPLE 765 S/SA2/R/RLRH/RS
(also fits 660cc model, 35/70kW versions)

SLIP-ON - LV PRO - CARBON - APPROVED



	14287E
	Vista del disegno5
	Vista del disegno16


